
MATE 3063assignment1: section12.6

For thenumberingof theproblemsasyoupresentthem,referto thepostedinstructions.

1. Exercise9 p.839.

2. Choosefour from 21–28(seebelow).

3. Usetracesto sketchandidentify thesurface:

(a) 2y = 2x + 4 2z .

(b) 2x + 9 2y + 9 2z = 9 .

(c) x = 2y − 2z .

4. Reducetheequationto oneof thestandardforms,classifythesurface,andsketchit:

(a) 2x − 4x − 2 2y − 2z = 0 .

(b) 4 2x + 9 2y + z = 1 .

5. Giventhepointof coordinates(x0, y0, z0),

(a) Find its distanceto thexz-plane.

(b) Find its distanceto they-axis.

Plot in bothcases.

6–9.Exercises43,45,47,52of thissection.

Problem2: “Give reasonsfor your choice”.Thereasonshaveto becompelling,andproceedby
elimination.Two examplesonhowthesolutionshouldread:

(22of text):
9 2x + 4 2y + 2z = 1. Thissetisbounded,andtheonly boundedsetsamongthoseshownareiv and
vii. In thegivenset(ellipsoid),thelargestinterceptis with thez-axis.Thiseliminatesfigurevii,
wherethelargestinterceptis with thex-axis.Sothisleavesiv.

(24of text).
− 2x + 2y − 2z = 1 . Theequationis written in amoresymmetricfashion:

2y = 1 + 2x + 2z .

Fromthetable,thisis thestandardform of a(circular)hyperboloidof 2 sheets,symmetricabout
they-axis.Theonly matchis fig. iii.


